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M.A. (FIRST SEMESTER)
EXAMINATION, Dec. - Jan., 2021-22

(ECONOMICS)
PAPER THIRD

(QUANTITATIVE METHODS)

Time : Three Hours] [Maximum Marks:80
Minimum Pass Marks : 16



Note : Attempt all sections as directed.
      


Section - A

(1 mark each)


(Objective/Multiple Choice Questions)

 

Note: Attempt all questions.


 Choose the correct answer:

P.T.O.
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1. 

(A)
x z = 

J (B) x = z
J

(C)
x  zJ (D)

Jx + z

Correct formula of Karl Pearson's coeff icient of
skewness if:

(A)
x z = 

J

(B) x = z
J

(C)
x  zJ

(D)
Jx + z

2. 

(A) 

(B) 

(C) 

(D) 

Correlation coefficient has:
(A) No limit
(B) Limit less than 1
(C) Limit more than 1
(D) Limit between 0 to 1
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3. 

(A) r = 0.5 

(B) r = 0.75 

(C) r = 0.75 

(D) r = 1 

The correlation between two variables will be perfect is:
(A) r is more than 0.5 but less than 0.75
(B) r is less than 0.5

(C) r is more than 0.75 but less than 1
(D) r = 1

4. 


(A)
21. .6745 rP E
N (B)

21. .6754 rP E
N

(C)
21. rP E
N (D) 

Correct formula of probable error of Karl Pearson's coef-
ficient of correlation:

(A)
21. .6745 rP E
N

(B)
21. .6754 rP E
N

(C)
21. rP E
N

(D) None of these

P.T.O.
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5. 

(A)  

(B) 

(C)   

(D) 

Regression analysis is concerned with-

(A) Karl Pearson

(B) Charles Spearman

(C) Sir Francis Galton

(D) None of these

6.  1bxy  0.64byx r  

(A) + 0.8

(B) + 0.6

(C) + 0.5

(D) + 0.7

Find out the value of r if bxy = +1 and byx = +0.64

(A) + 0.8

(B) + 0.6

(C) + 0.5

(D) + 0.7
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7. 

(A) 

(B) 

(C) 

(D) 

The best average for the construction of index number is-

(A) Median

(B) Geometric Mean

(C) Mode

(D) Arithmetic Mean

8. 

(A)  

(B) 

(C) 

(D) 

An ideal index number satisfies the following test-

(A) Unit test

(B) Time reversal test

(C) Factor reversal test

(D) All above

P.T.O.
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9. 

(A)
1 0

01
0 0

100p qP
p q

(B)
1 0

01
0 1

100p qP
p q

(C)
1 0

01
1 1

100
p q

P
p q

(D)
1 0 1 1

01
0 0 0 1

100p q p qP
p q p q

The formula of Fisher's ideal index number is-

(A)
1 0

01
0 0

100p qP
p q

(B)
1 0

01
0 1

100p qP
p q

(C)
1 0

01
1 1

100
p q

P
p q

(D)
1 0 1 1

01
0 0 0 1

100p q p qP
p q p q
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10. 

(A) 

(B) 

(C) 

(D) 

The correlation between two variable is said to be:

(A) Simple correlation

(B) Multiple correlation

(C) Partial correlation

(D) Total correlation

11. 

(A) 

(B) 

(C) 

(D) 

By association coefficient-

(A) The direction of relation between two attributes is
known

(B) The quantity of relation between two attributes is
known

(C) Both above are known

(D) None of these known

P.T.O.
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12. 

(A) 

(B) 

(C) 

(D) 

Association coefficient-

(A) Can be positive

(B) Can be negative

(B) Can be zero

(D) Can be positive or negative or zero

13. 


(A)  (B)
1
2

(C)
1
3 (D)

1
4

Two coins are tossed. Find the probability of getting a
head and  tail?

(A)  (B)
1
2

(C)
1
3 (D)

1
4
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14. 

(A) r = 0.5 

(B) r = 0.5 

(C) r = 0 

(D) r = 0.75 

There will be lack of correlation between two variable if:

(A) r is more than 0.5 but less than 0.75

(B) r is less than 0.5

(C) r = 0

(D) r is more than 0.75 but less than 1

15. 

(A) P01 × P10 = 0

(B) P01 × P10 = 1

(C) P01 × P10 = 8

(D) P01 × P10 < 1

Time reversal test is true when -

(A) P01 × P10 = 0

(B) P01 × P10 = 1

(C) P01 × P10 = 8

(D) P01 × P10 < 1

P.T.O.
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16. 

(A)  (B) 3

(C) 4 (D) 5
How many components of Time Series are?

(A)  (B) 3

(C) 4 (D) 5

17. 'PROBABILITY'


(A)
4

11 (B)
3

11

(C)
2

11 (D)
1

11

A single letter is selected at random from the word
'PROBABILITY' what is the probability that is a vowel?

(A)
4

11 (B)
3

11

(C)
2

11 (D)
1

11

18. 

(A)   (B)  

(C)   (D)  

What is period of seasonal variations?
(A) 1 year (B) 6 years

(C) 3 years (D) 12 years
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19. 

(A)
2(1 ). . rS E

N

(B)
2(1 ). . rS E
N

(C)
21. . .6745 rS E

N

(D)
2(1 ). . .6475 rS E
N

Formula of standard error-

(A)
2(1 ). . rS E

N

(B)
2(1 ). . rS E
N

(C)
21. . .6745 rS E

N

(D)
2(1 ). . .6475 rS E
N

20. 

(A) 1 (B) 2
(C) 3 (D) 4
If no. of known values are 4. Then degree of parabolic
curve would be-
(A) 1 (B) 2
(C) 3 (D) 4

P.T.O.
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

Section - B

(1.5 marks each)



(Very Short Answer Type Questions)




Attempt the following  questions in 2 - 3 sentences.
All questions are compulsory.

1. 

What is skewness?

2. 

What do you mean by Positive correlation?

3.  

Define regression.

4.    

Define time series.

5.   

Define probability.

6. 

What do you understand by interpolation?

7. 
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What is index number?

8.    

Define function

9.   

Give definition of Differentiation.

10. 

What do you mean by multiple correlation?



Section - C

(2.5 marks each)



(Short Answer Type Questions)

     


Attempt the following  questions within 75 words. All
questions are compulsory.

1.     

Write formula of second measure of skewness.

2. r = 0.8N = 16


Find out the limit of coefficient of correlation if r = 0.8 and
N = 16.

P.T.O.
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3. 

Distinguish between correlation and regression.

4.   

Write formula of Fisher's ideal index number.

5. 

Distinguish between Association and Correlation.

6. 

Explain the importance of interpolation.

7.  

Explain the cyclical fluctuation.

8. 
  

Two coins are tossed find the probability of getting a head
and a tail.

9.  

"Index numbers are Economic Barometers" Explain.

10.    

Explain the utility of regression analysis.



Section - D
  (4 marks each)



(Long Answer Type Questions)
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


Attempt the following questions within 150 words.
Attempt all questions.

1.  
 

X Y
52 62
63 53
45 51
36 25
72 79
65 43
45 60
25 32

From the following data, Find the coefficient of correla-
tion by the method of rank difference.

X Y
52 62
63 53
45 51
36 25
72 79
65 43
45 60
25 32

 OR

P.T.O.
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


   
 

  

  

  

  

  

  

  

Calculate Karl Pearson's correlation coefficient between
age and literacy from the data given-
Age (in years) Total population  Literate population

 

  

  

  

  

  

  

  
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2. 
   
   
  
r=

Given the following values-
Yield of wheat mean standard deviation
Area (Kg per unit) 10 8
Rain (in c.m.) 8 2
Correlation coefficient between
Production and rain fall (r) = 0.5
Estimate the yield when rain fall is 9 cm.

 OR


X Y
20 60
25 66
30 -
35 72
40 75
45 80

Interpolate the missing figure in the following-
X Y
20 60
25 66
30 -
35 72
40 75
45 80

P.T.O.
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3. 
 


  

  

  

   

In an anti malaria compaign in a certain area, quinine was
administered to 812 person's out of a total population of
3248. The number of fever cased is as below-

Treatment Fever No fever

Quinine    20   792

No quinine   220   2216

Discuss the usefulness of quinine in checking malaria.

 OR





A bag contains 5 white, 4 black, 3 yellow and 4 red balls.
What is the probability of getting a black or red ball at
random in a single draw of one?
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4. 

 

      

   

 

A   

B   

C   

D   

E   

F   

Construct cosumer price index number for the year 1973 from
the following data taking 1960 as base by aggregate ex-
penditure and family budget methods.

Comm- Quantity Price per unit Price per Unit

consumed in in year 1960 year 1973

1960 (in Rs.) (in Rs)

A 100 8.00 12.00

B 25 6.00 7.50

C 10 5.00 5.25

D 20 48.00 52.00

E 25 15.00 16.50

F 30 9.00 27.00

 OR

P.T.O.
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
 
 
 
 
 
 
 
 
 
 
 
 
 
Find trend value with the help of 3 yearly moving average
from the following data.
YearsProfit (in Lac)
 
 
 
 
 
 
 
 
 
 
 
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     
Explain of the Cobb-Douglas production function.

 OR
   
Write note on differentiation.


